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Jan 18% Quiz 2 (Parsons, Fall 2021-2)

HDRE L FFT/HE TS & &2 2 T F T, Communicating with other students is strictly

prohibited and if done, will result in failure and possibly other punitive action. Answer only the questions
YOU received in YOUR email inbox.

1) isthe example below an exanﬁple of a Prisoners’ Dilemma? Yes or No. And explain why in your

answer in detail. TO#ii, [HAOYL v~ officidr, ¥4, t0oBHYE 20

CTHLLFEHL T Iy,
Us, Japan Free Trade Protection
7
Free +515, 4515 455, -51
Trade
Protection -$1, +55 +58, 158

The US doesn’t have a domlnant strategy. When assuming that Japan chooses Free Trade, the US will
choose Free Trade(+15>-1) and when assuming that Japan chooses Protectlon the US wnll chuose
Protectlon (+5<+8)

Japan doesn’t have a dominant strategy as well. When assuming that the US chooses Free Trade, Japan
will choose Free Trade{+15>-1), and when assuming that the US chooses Protection, Japan will choose
Protection(+5<+8).

Therefore, the Nash ethbnum is (Free Trade, Free Trade) and (Protection, Protection). Social
optimum is (Free Trade, Free Trade), so it's not Prisoner’s Dilemma.

2} Inthe figure below
a. Which area(s) explain/describe the GAINS (increase in producers’ surplus, 2% 9, 4

BEE O RR D HENN) to the Producers from the tariff? D+E.
b. Which area(s) explain/describe the LOSS (decreasein consumers’ surplus, 2 ¥ 9 | H

& DA OFH D) to the Consumers from the
tariff?____ D+E+F+G+H




¢. What area(s) explain/describe the Deadweight (Net Loss #F21115) loss from the
tariff? ' F+H '

MPORT TARFF [SMALL COUNTRY}

W(Dmﬂcl.

P world + taril¥

3} Briefly explain what the Law of One Price is. —#—{li DR & {3 fi2~, fHHEICHHAL L #

Ty, _

- The Law of One Price states that identical product sold in different countries’ price must be the
same when expressed in terms of the same currency, in a condition that the market is a
competitive market, and free from transportation cost and trade barriers.

4) Briefly explain what the difference between the Law of One Price and Purchasing Power Parity
(PPP) is with respect to exchange rate theory. 2% L — FEIGRICBH L <. —— oLl &

BEEIFE (PPP) DBV XD, MBICHBEAL T FI v, _

The law of one price applies to individual commodity, while PPP applies to the general price
level, which is a basket of goods. Therefore, even if the law of one price isn't true for every
commodity, exchange rates should be close to the relation predicted by PPP. In other words,
according to PPP, even if the law of one price fails to hold, the economic forces will eventually
equalize the purchasing power of the currency in all countries.



5) Suppose the price of a Big Macis $4 in the US and 375 yen in Japan. Currently, the yen is about
115 yen = $1. According to PPP theory, is the yen currently undervalued or overvalued? 58 /1
FEiic k3 &, BHE, MGBMHEXI T30 TCL 2 35, e bBAFHIX
TW3DTL x 55, Show your caiculations for full credit. By how much (%) is the yen
under or overvalued? FIiZ XD { 5\ (%) BN S 2 BRI N CETH?

If PPP is true, '

E(yen/$)=375/4 X V. It should be $1=93.75yen

Now, the real exchange rate is $1=1 15yen,

$0115/93.7=1.2666.. & Y, Yen is undervalued by about 22.67%.
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1} Isthe example below an exarnple of a Prisoners’ Dilemma? Yes or No. And explain why in your

answerindetail. Tofliz. TWMAOIL v=] OfICTd, ¥, TOHAFE 2 Oh
CHLIHHLTLFE

Us, lapan Free Trade Pratection
Free +510, +510 455, -51
Trade ‘ -
Protection -$1, +55 +57, 487

z i’bl.imlka)' l/ /'?@ﬁ‘]‘t&iib b i-ﬂ:ﬁz US 2‘» FreeTrade 0) & * k,': El*i) FreeTrade\ us
pi Protectlon > k * 3 EIZF% Protectlon :6>§E¥ﬂ§‘fa'b D iﬁ'b [=J L‘C' EZF:EP FreeTrade DL
¥ 3, us '6 Free Trade‘ Elﬁiﬁ’ Protectlon DE 'é" IS US b Protection ﬁaiﬂﬂlﬁf% 570, =
DDF v zjﬁlﬁrﬁ#ﬁ?‘% fﬁ%‘iﬁ* Free Trade &1&#‘\"}'5 CDiP’H:%ﬂf_lﬂﬁ“Cb h. Thidr
//Jﬁﬁf55#6 HADY v/vmwfﬁ&h ok

2) Inthe figure below CORRECT
a. Which area{s) explain/describe the GAINS (increase in producers’ surplus, 2% 9, 4

EEE O R ON) to the Producers from the tariff? D, E

b. Which area(s} explain/describe the LOSS {decrease in consumers’ surplus, 2% Y, i
BE O RBOF) to the Consumers from the tariff? D_E F.G. H

c. What area(s) explain/describe the Deadweight {Net Loss #- 271} loss from the tariff?

EH !




3)

4)

5)

IMPORT TARIFF (SMALL COUNTRY)

Supply {Domastic)

Briefly explain what the Law of One Price is. —¥—{li DER] & 32, MBICHBL L #
T,

REMFOTCH, ALBHOKRIE, FLKAPORLTE BT, A0k

EbDL VS EREAL, ok

Briefly explain what the difference between the Law of One Price and Purchasing Power Parity
(PPP) is with respect to exchange rate theory. 28 L — FERICBHL €. —4— oA 2
JEREE (PPP) OV ikfs, MBICHHAL T F I v,

—Y OB L OMICEAE 1S b OT, PPP — MG RIIIARE, DF Y B

A7y FECASZTOMDEREZRE L b0 I NS,

HoBIMT BT MOEAE D IoBE. PPP b HEIMICH Y T2, it
ZFLOEDE0 L RED BV, —W—HOBMSMECHK Y T T, kLD
BL— M3 PP TR ICTFHAECH S, ok

Suppose the price of a Big Macis $4 in the US and 350 yen in Japan. Currently, the yen is about
115 yen = $1. According to PPP theory, is the yen currently undervalued or overvalued? B8 71

FliRtic X 3 &, HE. MGBNFHIRhTW3EDTCL & 52, £ht dBKFHGxH



Tw3DTL &k 5%, Show your calculations for full credit. By how much {%) is the yen

under or overvalued? F{lIZ & D { v (%) BN - ILAATEl X hTwETH?

Not correct. According to PPP, the yen should be 87.5 yen = $1 {because 350/4), so the yen is
115, or 115-87.5/87.5 = 31% undervalued. -10 pts.

bt = I

adage o| = g5
bt = pso

—o undervafued.




4) On Trade Deficits. In the expression below: (HBHRFIZ2TC)

(X-M)= (8- + (T-G)

4a) What does "X’ stand for? IX] iF{E2RL THEn?
4b) What does "M’ stand for? TM] IZfil & L TW5BH?
4c) What does *S” stand for? {S] IZERL THHMn?
4d) What does "G stand for? [G] 32 R L TNWBEH?

5) In the following Balance of Payment identity (equation) CA+KA+OR=0

5a) Was US’s CA > 0 or <0 in the 1990s and 2000s? pick one.
5b) Was Japan's CA > 0 or < 0 in the 1990s and 2000s? pick one.
5¢) Does China have CA > 0 or CA < 0 now? Pick one.

5d) Is US's KA (also now called FA) > 0 or <0? Pick oxne.

5e) Is Japan's KA > 0 or < 0? Pick one.

6) Suppose a country has OR =0. If they have a CA sutplus, they must ( #8%}) also have
(recalling equation CA + KA + OR =0) ? Pick the single, best answer: 3» 5
ICOR=0252 L HET 5. CARSEDHIHE. (o) XBRGLORLIL, F
Toi-itCA+KA+0R 0ZBWVH LT EEW) %E@%i% 1 DBRE L,

a) a Trade Deficit

b) a KA Deficit
c¢) a Government Deficit

d) Savings (S) greater than Investment (I)
€) a high GDP per capita

7) From my “trade war” notes/PPT. What TWO things did the US do to avoid future trade wars
such as the one started by Smoot-Hawley in the 1930s?

8) Considering the following Balance of Payment identity (equation) CA+KA+OR=0
If a country (the country is NOT the US) is running a CA deficit and also has a KA
deficit, does their Central Bank have to BUY, or SELL its US dollar reserves? One word

answer. LITOERENE (FER) CA+KA+OR=00#E. b2E CRETIIAR
W) IEHNXFEFREHY, RARFLHIBEE., PREFTIE FAEBSFIAT -
RHTDHLERSIN?2WALTH», EFboh —ETCEL L,



9) Considering the equation (X-M) = (S-I) + (T-G). Japan currently has a CA surplus and a small
Trade Surplus. If nothing else changes, as Japan's population continues to age and the number of
retired persons increase and the number of working people as a share decline, what do you think
wilt happen to Japan's Trade Balance? Will it INCREASE or DECREASE? Explain and defend
your answer within the framework of the above equation and one or more variables in the
equation, . (X-M) = (8D + (T-G) 2E2F7, BE. HERZEIHERNZBFEL /N
SREEBFTREHY ET, MBEDLLRTHIEL, BARDOADIIEELERET. EFEBRH
FORIREML, FBHECHE EFE) BRI LTWEET., BEROERRZIIEIRS
EBWVETD, BLETH, ERELBPLETH? LROFEROHMHOF T 1
DU LOEREHTRO THREOEZZFRALEZIY,

10)
Big Mac Index questlon

Suppose the price of a Big Mac is $4 in the US and 425 yen in Japan. Currently, the yen
is about 115 yen = $1. According to PPP theory, is the yen currently undervalued or

overvalued? ¥ /S EERRIZ L 5 & HAE, HIEB/MNHMEERLTHBEDOTL X S
p, FNE BIRAFHEENTNDDOTL X 9%, Show your calculations for full
credit. By how much (%) is the yen under or overvalued? FiZ ¥ D < v (%) B
N E TR ATl S TN ETH?

11) Difference Between Greenfield and Brownfield FDI.

Suppose Amazon.com (a US company) buys/acquires Rakuten, a Japanese company. Would this
be an example of Greenfield or Brownfield FDI? Briefly explain. ‘

MPK figure question
(Refer to the “MPK” figure below for problems 6, 7 and 8)
r r*
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12) As the capital flows from the Home Country H [ to the Foreign Country,
does “r’ rise or fall in the Home country? ®& R B EAOAEICHEN D & &,
r] HEETCERLETS, ThELTERLETM?
13) What does the area (triangle) ECB represent?

@6, 7, 8IZOWTEUT® “MPKORIEZBROZE, )

F

A

MPK*

o ___ ___
EEONER

" 14) Logrolling example ?7?? (3 persons max)

THEORER

*

R11-3  IHES LN

Table 1: Losses from Logrolling ?? (Vote-trading)
Kl:nrlu—Yr7icksH%k (ER5)

Gains of losses to Individual/Region

8 A/ Hig~0FE & /- 1338 %
A (Hokkaido) | B (Niigata) C (Tokyo) Net
A (GkiBE) |B (FE) C (GEx) v b
Issue 1: +20 -15 -15 -10
‘Wakkanai
Road
FHEPNIE B
Issue 2: -15 +10 -15 -10
Sado Tunnel
) N 3
yi%
Issue 1&2 +5 -5 -30 -30




&5t I

The Table above is NOT a good example of Logrolling which results in wasteful spending. How
could you CHANGE one or more numbers in one of the cells to make it a good “logrolling™
example, where two of the voters join forces to vote for both wasteful projects? In your answer,
explain:

a) Why it is NOT a good example of logrolling.

b) How your new number {or numbers) make it become a good example of logrolling.

15) Multiple Choice. When was GATT formed? (pick the single best answer)

a) 1933
b) 1941
) 2001
d) 1947
) 1955

- 16) When was the WTO formed? (pick the single best answer)
a) 1903
b) 2003
c) 1995
d) 1947
e) 1955

Easy question about Costs of Protection {Japan, US, Chira, Korea, EU)
17) J-Curve. Brieﬂy explain the J-curve effect.

18) Multiple choice. Pick the single, best answer. Approximately how long does the J-
curve effect take?
a}) A few days
b} 10-12 years
¢) 1-2years
d) 100-150 years

19) Question on the future of Japan’s current account.
Suppose, Japan allows a huge amount of foreign workers into Japan in a short amount of time
(say, 30 million new workers, aged 25-40 years of age). Assume that they can all find good jobs
and that all the current Japanese workers also keep their jobs (unemployment does not change).
As Japan’s working age population increases what would happen (ceteris paribus) to the Japanese
CA? Use the identity , X-M =(8-I) (T-G) to explain your answer.



